GUPTA CLASSES

GUPTA

CLASSES

www.guptaclasses.com

e

i

s A Premier Institute For SSC/Bank/MCA/MBA/CDS/NDA Entrance

SSC Practice Set-5

The difference between the greatest and least
five-dight numbers formed by the digits 2,5,0,6,8
is (repetition of digits are not allowed)

2,5,0,6,8 3l ¥ S UTE IHT TEH T W@ IR
TEH Bt AT & AaT femaar g m? (37 &t GGt
A TE ® )

(a) 69552  (b) 65925 (c) 65952 (d) 63952

The price of a shirt after 15% discount, is Rs. 119.
What was the marked price of the shirt before
discount.

forelt wHIST T o4 15% i G a1 & 91E & 119 §1 &€

% UEel HHIST T hid Jod F1 912

(a)Rs. 129 (b)Rs. 140 (¢) Rs. 150 (d) Rs. 160

¥ % - % _ ¢ | gnd the value of
q-r r-p p-q

pa+qb+reis
e . b :—E—?ﬁpa+qb+rcaﬂ'qﬂw
q-r r-p p-gq

grm?

(a) 0 (b1 ()2 (d-1

The average of a,b,c is 20 and that of b,c,d is 25; if
d=30 then the value of a is

a,b,c &1 3EA R0 ¥ IR b, ¢, d F 3iEq 25 71 A
d =30 @t a & UH F §?

(a) 25 (b) 45 (c) 30 (d) 15

A store sells a watch for a profit of 25% of the
cost. Then the percentage of profit against
selling price is

T& €R § ' 68 & 25% s 0T ggt st St g
foreha e UX oW &1 Afavra fewaam grm?

(a) 22% (b) 20% (c) 18% (d)15%

If A is equal to 20% of B and B is equal to 25% of
C; then what percent of C is equal to A?

g A, BS 20% & TR §, 3R B, C & 25% & ST&
&, @ C & fha ufavra A & s¥E grm?

(a) 10 (b)15 (¢) 5 (d) 20

A gun is fired at a distance of 1.7 km from Ram
and he hears the sound after 25 second . The
speed of sound in meter per second is

T/ 1.7 fe.of g0 & e wg @ Tieh wenE S 2
3R o IUS! AT 25 Vehe TG FAAT &1 AT @i T
ferem whex ufa dehe 872
(a) 60 (b) 62

(c) 64 (d) 68

8.

10.

11.

12.

13.

14.

A sum of Rs 3000 yield an interest of Rs 1080 at
12% per annum simple interest in how many
years?

& 3000 H THT W 12% it & IR &< | &
1080 &1 & fehaw WTelt ® faeim?

(a) 4 years (b) 3years (c)5years (d) 2% years

378 - 2412 + /20 s
2418 — 2./27 + /45

&HT GIAqH | T 82

The simplest value of

3.8 - 2412 + /20

218 — 227 + /45
()3 b 21 (01 (d) 2
2 3 3
\2
If(a+1 :3,thevaluelofa3+iis
21 a3
1\2 3 1 &
AT |a+= =3Wa®+ - & AW FaWG ?
21 a3
N 3y
(@0 (b) 3( e+l (© 3(a2 + Lot
a a?
2 2 2 2 2 2
@ tb° _bTtc” _cta’ 1 4 6 thenk=
o2 a? b2 E
2 2 2 2 2 2
‘Q'ﬁ{a +b :b +2c _c +2a :l,(k;éO)?ﬁk:
c a b k
(a) 2 (b) 1 (©) 0 d) %

The area of the largest triangle that can be
inscribed in semicircle of radius 6 m is
6 ™ o e 2refgw A S ST U AT WEd a3
st &1 f9we feRa-T gm?
(a)36m% (b)72m?2  (c) 18m?
The value of sinf + sinf is
1+cosb 1-cosf
sin6 sin6
1+cosB 1-cosB
(a) 2sin®  (b) 2 cosb (c)2secB (d) 2 cosech

Twenty women can do a work in sixteen days.
Sixteen men can complete the same work in
fifteen days. The ratio between the capacity of a
man and a woman is

20 Afgemd ferelt ™ &) Hiee e A T wandt &1 Hiee
&Y 3T S &l 15 & # &Y dahd §1 & TE9 3R
Hfge @i QAT & sitel AT TehaT 272

(d) 12 m?2

T U =0 82
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15.

16.

17.

18.

19.

20.

(a)3:4 (b)4:3 (¢)5:3 d)5:7

If 2x + 2 = 4, then the value of 27x3 +
9x 27x3

aMoxt 2 -4 WMoTad L
9x 273

(a) 180 (b) 198 (c) 234 (d) 252

In a cyclic quadrialteral ABCD/BCD = 120° and

passes through the centre of the cirlce. Then

ZABD =?

T& Thid Ig9st ABCD § /BCD = 120° 3R AB g«

% H=d ¥ BT ot € dt LABD = ?

(a)30 ° (b) 40° (¢) 50° (d)60°

The midpoints of AB and AC of a triangle ABC

are X and Y respectively. If BC+XY= 12 units,

then BC- XY is

T AIYSTABC % AC & g fag waw: X iR Y ® |

Tfg BC+XY= 12 e, @ BC-XY &1 9 4T §R1I7?

(a) 10 unit (b) 8 units  (c) 6 units (d) 4 units

In an isosceles AABC ,AD is the median to the

unequal side meeting BC at D. DP is the angle of

ZADB and PQ is drawn parallel to BC meeting

AC at Q. Then the maesure of /PD@Q is

Ife ©& TWEa9st AABC ® AD, BC & D W faearett

faaaysT &1 9gaS & DP, ZADB &1 &I -gfaweia §

3R PQ, AC & Q W Tuervarelt BC & WA @ieht Swt

g @ £LPDQ &1 ug &= grm?

(a) 130° (b) 90° (¢)180° (d)45°

120 meter from the foot of a cliff on level of

ground, the angle of elevation of the top of a cliff

is 30° . The height of this cliff is

T 9 UT @WE 9gM & UlE @ 129 WeX i WEt agH

?Qﬁﬂ‘mmﬁmw 2, @ 3@ 9T & HaTg fHat

?

(a)50v3  (0)45V3 | (c)4743 () 433

The volume of metallic cylind is 9 cm. The

thickness of the pipe is

[ HISTS Tt 8Tg & SeIehIT UTEd T 379a 748 9.9

21 S @ang 14 9 § X amed w9 At §1 uidy

&t Hierd fhat 87

is

HT qE T A

(a)0.5em (b)1.5em (¢) 1cm (d) 2 em
- If tanb = ﬁ, the value of—l_gl—(i is
15 1+ sinf
'ﬂﬁtanﬁziﬁ, 'c'ﬁ—l:ﬂl—qﬂ
15 1+ sinB

22.

24.

25.

1 2 3
= b) 2 ° d)0
(a)5 ()5 (0)5 (d)

The bar graph shows the production of table
fans in a factory during one week. Study the bar
graph and answer the question.

3W 9 U § fonelt thaet § U HWE & SR 2ot U@l
& ST Tl ST AT 81 S ATh &1 AT iy,
3ir frafafaa yei & S &)

800
700
600 540
500
400

600

Production of table fan

200

100

0

Mon Tue Wed Thu
days ——

Fri  Sat

The maximum production exceeds the

minimum production by:

AferehaH IET AW ITEA | fohaan Sifres 272

(a) 400 (b) 420 (c) 500 (d) 540

The average production of table fan in that

week is

U UWIE W 2961 UGl @ 3Hd Seie foha 82

(a) 370 (b) 280 (c) 300 (d) 250

Ratio of the total production of table fans in the

factoryr from Monday to Wednesday to that

from Thursday to Saturday is

Hedt ¥ AHaR ¥ FUER dh 2961 UGl & $el SATed AR

TEAR | YIHER T % HoT STE T AJUTd TohaT 22

(2)19:26 (b)26:19 (¢)29:16 (d)16:29

The average production of table fans on Monday

& Tusday exceeds the average production of

table fans during the week by

AR 3R WeER @t 2ae Ul @ 3id Sdred 39

;‘?ﬂ'&' & 29 Ul & Sfwd Iered A fhan sifer g
?

(a) 150 fans

(c) 140 fans

(b) 100 fans
(d) 200 fans

WWW.Guptaclasses.com All the Best by : Alok Gupta Sir & Ritu Gupta Mam



SSC Practice Set-5 3

— ANSWER KEY
1. (d) 2. (b) 3. (a) 4. (d) 5. (b) 6. (c) 7. (d) 8. (b) 9. () 10. (a)
11. (d) 12. (@)  13.(d) 14. (b) 15. (b) 16. (a) 17. (d) 18. (b) 19. ()  20. (c)
21. () 22. (b))  23.(c) 24. (b) 25. (a)
1. 2,5,0,6,8 4. a+btc oo
il 9 o1 aTelt Tod 9l G = 86520 ! 3
sl ¥ o Al Tad Biel W@ = 20568 i a+b+c=60 (@)
S = 86520 — 20568 i bretrd oy
=65952 Ans. i
: btc+d="T5 ...()
2. 150ge-_ 32D L @<
20 — 3if%a g (M p) ; a+b+c—(b+c+d) =60-75
17 — fosha o (Sp) ; a-d=-15
{Sp = M p — Discount)} i a-30=-15
17 unit — 119 %o ! a=-15+30
1unit—>¥:730 i a=15
20 unit — 7 x 20 = 140 %o 'S, osppEw - LT
' 4—)3»1[110(6'1,)
3. Let i fahago(S,) =5
a b c i p
3r rdp pdg | fosRa qo = 5o + T
- P pma | @1 = 1 unit
=K=a=K(g-r | fosha o = 5unit
q-r ! Ik
a = Kqg-Kr ) | e % (1507 o ) TR
P -K=b-K(-p) i = 1100 = 204
r-p ! =5 = o
b=Kr-Kp (i) | Note : /21 T 552 Fo (C ,) W A &, AHA &1 forshat o
¢ _K=C=K(p-9q | (S,) W YS! TE ¥ . ¥W Sp W AN
pP—q 1
¢ = Kp-Kq ..(iii) | B A=B@®r20%
pa +qb+rc = p[Kq— Krl+ q[Kr - Kp] i B=C ®125% 1
+r [Kp - Kq] 1 20% = —
oy : A:B)(_ 5
= pKq— pKr+ qKr - qKp : 5 1
+rKp — rKq i 25%21
=0 Ans. | A 1
Second Method : i B 5
£ b g | B-Cx1
q-r r-p p-q ; 4
Let a=b=c=0 i B_1
a i C 4
Now, =0=a=0x(g-rN=a=0 i A 1 B 1
o | B 5 C 4
r_p:0:>b:0 i B & value &R 4l
c i A : B :C
=0=c=0 ! 1 : 5 IR TR KAl
pP-q : L4
pa+qgb+rc=px0+gx0+rx0 i 1 5 i
= ! x1 x1
=0 Ans. | 1os 4o
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1 : 5 : 20
CHIfRa% = A
A x%
Cxx% = A

20x - —1=x=51ie, 5%
100

Second Method :
A =Bx20%

A=Bxt
5

B &I value seR &Y

A 1 B _1x5

B 5 C 4x5
A=1B=50C=20

e eETM R fm A =1,

C = 20 1 fohaT wReE

ix 100 = 5%
20

concept A, B 1 fha % ?

3
:(éxloo %
B l

B=Cx25%

1

B=Cx=
4

Ans.

7. T =1.7 &
=1.7 x 1000 Hio
= 1700 Hio (mtr)

{-1km = 1000 mtz

TJHI(¢) = 25sec

i () (S) = D)
93 (t)

g - 1700 mtr
25 sec

S = 68 mtr/sec

8. T&@EH (P) = 8000 %o
() = 12%

Hio oq11(SI) = 1080

o ey — WX T X T
100

¢t =34

9. 3J8-2/12++20
318 - 2427 + /45

_ 3V4x2-24%x3++/5x4

 3J9%x2-29x3+9%5

_3x2/2-2x2/3+2J5
3x3/2-2x3/3+3V5

== Ans.

10. afg

a3

a3+i:‘7
a3
\2
(a+1 =3
al
a+l-\3
a
TET 3R 1 (cube) HFH W

33
(ar 2" =32
al

Y
+i+3><oz><1(a+l =343
a3 a

a |l

a3+i3+3><\/§:3«/§

a
o3+l -3/3.303
a3
a3+i=0
a3
Second Method :
@Result%’ﬁ?ﬂ'qﬁ'(@—
1. Zﬂ;q’x+1=1
x
T‘Iﬁl,x?’:—l
2. aﬁ:x+1:—1
x
T‘Fﬁf,x3:1
1)2
3. zrﬁ:(“— =3
x|
or x+l=\/§
x
x8=-1
) 1\2
Tel (a+— =3
al
a6 =-1
3 1 a%+1 -1+1 o0
a +— = = =__
a® a® a® a
=0 Ans.
wﬁ,a2+b2 :b2+c2 :cz+a2 :l
c2 a’ b2 K
First Method :
a2+ b2 :l
2 K
K(a?+b?) = ¢2 ..G)
b2 +c? _1
a? K
K2 +¢?) = a2 ...(ii)
¢? +a? _1
b2 K
K(c?+a?) =b2 ....(iii)

(1) + (i) + (ii)
KaZ2+b2)+Kb2+c2)+ K2 +a®)=c2+a? +0b2
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K[2a? + 2b% + 2¢2] = % + a2 + b2
2K(a? +b2+¢2) =2 +a? +b?)
2K =1
x-1
2
Second Method :
Put the value & get the answer.

a2+b2:bz+02:cz+az_i
2 a? b2 K
Put a=b=c=1
2_2_2_1
1 1 1 K
2_1
1 K
k-1
2
12. r=6 A l=2 B
|
(e}
A AOB 1 8o
:%x?:ﬂ%iﬂ'{xEo
:1><12><6
2
=36 cm?.
13. sinf sinf

1+cosb 1-cosB

(1+ cosB)(1 - cosB)

sinB — sinB cosB + sinB + sinH

sinB(1 - cosB) + sinB(1 + cosB)

5
3x+i=6
3x
ST SR S R W
1\3 3
(3x+— =6
]

foa+b)° = a® +b° +3ab(a+ b))

3
97x3 4 1 +3x.i(3x+i=216
27x3 3x 3x |
2723+ L 1306 = 216

27x3
27x3 + 5 =216-18
27x
=198 Ans.
Second Method :
2x+£:O
Ox
%@r?ﬁ'—ﬁaﬂ?wmﬁm
3+ =g
3x
TS VT g+l A
a
a3+ L - A% 34
a3
27x3 + -62-3x6
273
- 216-18=198 Ans.
16.
o TN
’ B
<

1- cos? 0)
_2sinB _ 2
sinz 3] sinB

= 2cosecH

Note: " sin®0+ cos?0 =1
s 1-cos20=sin20

14. WHT U Afgen &t & &uar = w
Th GEY il & & = m

TRATTER 20w %16 =16m x 15
ﬂ:20><16
w 16x15
m_4
w 3
m:w=4:3
15. First Method :
2x+£:4
9x
ﬁ@?%ﬁwwm
§><2x+£><§:4><§
2 9x 2 2

T TGS W SHA HEA % IO % A 180° Bl B
/DAB+ #BCD = 180°
ZDAB +120° = 180°

Z2DAB =60°
(;

S

Fgad T S HI0T THBIOT Bl B
ZADB =90°
ZACB =90°
AADB ¥
D

90

60°
A B

A % T SRION ST AT = 180°

ZADB+ ZDAB + £#ABD = 180°

90+60+ £ZABD = 180°
ZABD = 30°
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17. First Method :

B ©
xAAfIgE > AB®
Ax :xB=1:1
yTAfTgE > ACH
Ay :yc=1:1
xy || BC
Ax :xB =Ay :yc=1:2
w11
BC 1+2 2
xy 1
BC 2
xy:BC =1:2
xy + BC = 3unit
BC - xy = 1unit
3unit — 12unit

lunit — 1—32 = 4unit

BC — xy = 4unit

Second Method :
A
X
B C
Ife x 9 y HHN: AB 9 AC % HeA fog &
-, ay _1
BC 2
xy : BC =1:23m
BC+xy =3
BC-xy =1
3 — 12unit
1 —>B:4unit
3
18. A .
i AB = AC
(AsfgaTg A)
B D C
BH A ¢ Toh TulgeTg A § Wikt WA Al ST W 90°
(EHIOT) S T
ZADB = Z#ADC =90°
A
P
B D C

DP, / ADB & SVl GHEHNF &

ZADP = /PDB = % = 45°
ZADP = 45°

PQ || BC
A

B D C

PQ || BC
3 HaaE ¢ AO, A APQ ! Hifeasht et
AAPO = AAOQ
AO — common
ZADP = ZAOQ = 90°
PO =0Q
(TfETeRt AO, PQ 1 <1 I B =1eTh)
T THR APOD = ADOQ
Z/PDO = 45°
Z20D@Q = 45°
ZPDQ = £PDO + CODQ
=45+ 45
=90°
Second Method :

}>

B D C

BH A ¢ 6 qufgeng A # it g ol g W 90°

(GHHI) ST 7

ZADB = ZADC =90°

>,>

B D C

DP, Z/ ADB & Sv] HHEHSE &

N
S
N
5
)
S5
I

— = 45°

|8

C
>
©

@
@)
O

/PDQ = 45°+
TE 45° § ST BN wifehd L ADQ < 90° BTN
( -+ TIE GHHIUTH HH B
45°+ Had option (b)

19. First Method :

oA>

D
8

Ce—129mr—>B

i) AB — =g
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tan30 = ﬁ
BC
1 _AB
J3 129
129
AB 5
_129x+3 _ 12943
V3 x+/3 3
AB = 433
Second Method :
AB BC CA
{ { {
30°  60°  90°
{ { {
x x+/3 2x
!
129
x~/3 =129
129
V3
129 Jﬁ
3 f
12943
~ 3
x = 433 Tio

T 9 =1 R =9cm
Laem syt forean = -

S A = nR2H -nr’H
l |
TR AT TRk 370
= tH(R? -1?)
22 2 9
748_7><14(R -r?)
68 = 4(R%-1?)
17 = R%2 -2
17 =92 -2
2 -81-17
2 - 64
r = 8 gHto
TEYHIACE = R—r
=9-8=19do

2L tan6 =

1-sinB
1+ sinB

=7?

8§ o
tan® = > = =
15 378N

Sl

]

C
AC?
AC

15 B

= AB® + BC?

=JAB? + BC?

=64 + 225

17

cosB =

15 B

AR _ B
]
15
_7

\/T— sin® _
1+4sin®

Second Method :
tanB =

o SR e
8 15

- s1n9 X 1-— sin®
1+ smB) % (1 - sinB)

\/7— s1n(:'})2 - s1n8)2
Sln 9

cos2 @
—sinf _ sinf

cosB cos 9 cosb

17 — Triplate

17
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Ans.

22. gAdH IR = 120
s 3 = 540
R = 420

23. 3NEa SaRA

_ 260+ 540 + 360 + 120 + 200 + 320

6

_ 1800 _ 300
6

24. I
THER 260

TR 540
959 360

1160

120
200
320
640
1160 : 640
58 : 32
29 :16

Ans.

25. 9HaR = 260
TG = 540
800

ﬁw:%:mo

HedTE o1 3119d e = 300
{ TTE 1 ST S — U923 9
= = 400 — 300

=100
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